

# **COURSE LIST**

Click a course to view the full course details online.	DURATION	PACKAGE DURATION	CAMPUS	2023 INTAKE	2023 SEMESTER FEES*	TOTAL COURSE FEES	IELTS
AUSTRALIAN SENIOR SECONDARY SCHOOL QUAL	IFICATION	1					
ACT YEAR 12							
ACT Year 12 Senior Secondary Certificate CRICOS: 078241E   NATIONAL ID: N/A	1 year	1 year	Bruce	Feb	\$7,450	\$14,900	5.5
DESIGN & CREATIVE INDUSTRIES							
INTERIOR DESIGN							
Advanced Diploma of Interior Design CRICOS: 099331G   NATIONAL ID: MSF60118	2 years	2 years	Reid	Feb	\$7,450	\$29,800	6.0
FASHION							
Diploma of Applied Fashion Design and Merchandising CRICOS: 0100772   NATIONAL ID: MST50119	2 years	2 years	Reid	Feb	\$7,450	\$29,800	6.0
VISUAL ARTS							
<b>Diploma of Visual Arts</b> CRICOS: 111244A   NATIONAL ID: CUA51120	1 year	1 year	Reid	Feb	\$7,450	\$14,900	5.5
GRAPHIC DESIGN							
<b>Diploma of Graphic Design</b> CRICOS: 105812B   NATIONAL ID: CUA50720	1.5 years	2.00000	Reid	Feb	\$7,450	\$22,350	5.5
Advanced Diploma of Graphic Design CRICOS: 112086B   NATIONAL ID: CUA60320	6 months	2 years	Reid	Jul	\$7,450	\$7,450	5.5
BUSINESS & ACCOUNTING							
ACCOUNTING							
Certificate III in Accounts Administration CRICOS: 098028M   National ID: FNS30317	6 months		Reid	Feb/Jul	\$7,050	\$7,050	5.5
Certificate IV in Accounting and Bookkeeping CRICOS: 098125K   National ID: FNS40217	6 months		Reid	Feb/Jul	\$7,050	\$7,050	5.5
<b>Diploma of Accounting</b> CRICOS: 112092D  National ID: FNS50222	6 months	2 years	Bruce	Feb/Jul	\$7,050	\$7,050	5.5
Advanced Diploma of Accounting CRICOS: 112091E   National ID: FNS60222	6 months		Bruce	Feb/Jul	\$7,050	\$7,050	5.5
LEADERSHIP AND MANAGEMENT							
Certificate IV in Leadership and Management CRICOS: 104558H   NATIONAL ID: BSB40520	6 months		Reid	Feb/Jul	\$7,050	\$7,050	5.5
Diploma of Leadership and Management CRICOS: 104559G   NATIONAL ID: BSB50420	6 months	1 year	Reid	Feb/Jul	\$7,050	\$7,050	5.5

Click a course to view the full course details online.	DUDATION	PACKAGE	CAMPUS	2023	2023	TOTAL	IF4.TC
	DURATION	DURATION	CAMPUS	INTAKE	SEMESTER FEES*	COURSE FEES	IELTS
INFORMATION TECHNOLOGY							
NETWORK ADMINISTRATION / PROGRAMMING AN There will be two elective options offered under these generic q			NS				
Certificate III in Information Technology CRICOS: 108479H   NATIONAL ID: ICT30120	6 months		Reid	Feb/Jul	\$7,050	\$7,050	5.5
Certificate IV in Information Technology CRICOS: 108481C   NATIONAL ID: ICT40120	1 year	2.5 years	Reid	Feb/Jul	\$7,050	\$14,100	5.5
<b>Diploma of Information Technology</b> CRICOS: 108480D   NATIONAL ID: ICT50220	1 year	<u></u>	Reid	Feb/Jul	\$7,050	\$14,100	5.5
HAIR & BEAUTY							
HAIRDRESSING							
Certificate III in Hairdressing CRICOS: 094149A   NATIONAL ID: SHB30416	1.5 years	1.5 years	Reid	Feb/Jul	\$7,050	\$21,150	5.5
BARBERING							
Certificate III in Barbering CRICOS: 094153E   NATIONAL ID: SHB30516	1 year	1 year	Reid	Feb/Jul	\$7,050	\$14,100	5.5
MAKE-UP							
Certificate III Make-Up CRICOS: 111243B   NATIONAL ID: SHB30221	6 month	s 6 months	s Reid	Feb/Jul	\$7,050	\$7,050	5.5
Certificate IV in Beauty Therapy CRICOS: 112093C   NATIONAL ID: SHB40121	1 year	1.5 years	Reid	Feb/Jul	\$7,050	\$14,100	5.5
<b>Diploma of Beauty Therapy</b> CRICOS: 112087A   NATIONAL ID: SHB50121	1 year	i.5 yeurs	Reid	Feb/Jul	\$7,050	\$14,100	5.5
HEALTH & COMMUNITY SERVICES							
EARLY CHILDHOOD EDUCATION AND CARE							
Certificate III in Early Childhood Education and Care CRICOS: 110727A   NATIONAL ID: CHC30121	1 year	2 years	Bruce	Feb/Jul	\$7,450	\$14,900	6.0
Diploma of Early Childhood Education and Car CRICOS: 111262K   NATIONAL ID: CHC50121	<b>e</b> 1 year	2 years	Bruce	Feb/Jul	\$7,450	\$14,900	6.0
AGEING SUPPORT							
Certificate IV in Ageing Support CRICOS: 090580G   NATIONAL ID: CHC43015 The entry requirement for this course is completion in the Certificate III in Individual Support.	6 month	s 1 year	Bruce	Feb/Jul	\$7,450	\$7,450	5.5

Click a course to view the full course details online.	DURATION	PACKAGE DURATION	CAMPUS	2023 INTAKE	2023 SEMESTER FEES*	TOTAL COURSE FEES	IELTS
HEALTH & COMMUNITY SERVICES							
COMMUNITY SERVICES							
Certificate IV in Community Services CRICOS: 089975J   NATIONAL ID: CHC42015	1 year	2 years	Bruce	Feb/Apr/ Jul/Oct	\$7,450	\$14,900	5.5
<b>Diploma of Community Services</b> CRICOS: 089976G   NATIONAL ID: CHC52015	1 year	2 years	Bruce	Feb/Jul	\$7,450	\$14,900	5.5
COMMUNITY DEVELOPMENT							
Certificate IV in Community Development CRICOS: 091156D   NATIONAL ID: CHC42115	1 year	2 years	Bruce	Feb/Apr/ Jul/Oct	\$7,450	\$14,900	5.5
<b>Diploma of Community Services</b> CRICOS: 089976G   NATIONAL ID: CHC52015	1 year	2 years		Feb/Jul	\$7,450	\$14,900	5.5
ALCOHOL AND OTHER DRUGS							
Certificate IV in Alcohol and Other Drugs CRICOS: 091154F   NATIONAL ID: CHC43215	1 year	· 2 years	Bruce	Feb/Apr/ Jul/Oct	\$7,450	\$14,900	5.5
<b>Diploma of Community Services</b> CRICOS: 089976G   NATIONAL ID: CHC52015	1 year		Bruce	Feb/Jul	\$7,450	\$14,900	5.5
MENTAL HEALTH							
Certificate IV in Mental Health CRICOS: 091155E   NATIONAL ID: CHC43315	1 year	2	Bruce	Feb/Apr/ Jul/Oct	\$7,450	\$14,900	5.5
<b>Diploma of Community Services</b> CRICOS: 089976G   NATIONAL ID: CHC52015	1 year	2 years	Bruce	Feb/Jul	\$7,450	\$14,900	5.5
YOUTH WORK							
Certificate IV in Youth Work CRICOS: 081441D   NATIONAL ID: CHC40413	1 year	2	Bruce	Feb/Apr/ Jul/Oct	\$7,450	\$14,900	5.5
<b>Diploma of Community Services</b> CRICOS: 089976G   NATIONAL ID: CHC52015	1 year	2 years	Bruce	Feb/Jul	\$7,450	\$14,900	5.5
NURSING							
<b>Diploma of Nursing</b> CRICOS: 094478F   NATIONAL ID: HLT54115  Applicants who hold or are applying for studies with CIT on a 500 visa are not eligible to study this qualification	1.5 years	1.5 years	Bruce	Feb/Apr/ Jul/Oct	\$7,450	\$22,350	7.0

Click a course to view the full course details online.	DURATION	PACKAGE DURATION	CAMPUS	2023 INTAKE	2023 SEMESTER FEES*	TOTAL COURSE FEES	IELTS
HOSPITALITY, PATISSERIE & CULINARY							
COMMERCIAL COOKERY							
Certificate III in Commercial Cookery CRICOS: 109761J   NATIONAL ID: SIT30821	1 year		Reid	Feb/Jul/Oct	\$8,900	\$17,800	5.5
Certificate IV in Commercial Cookery CRICOS: 094148B   NATIONAL ID: SIT40516 (Last intake Semester 1 2023) OR	6 months	2 years Diploma 2.5 years Advanced Diploma	Reid	Feb/Apr	\$8,900	\$8,900	5.5
Certificate IV in Kitchen Management CRICOS: 109721F   NATIONAL ID: CIT40521 (Course commencing Semester 2 2023)	6 months		Reid	Jul/Oct	\$8,900	\$8,900	5.5
Diploma of Hospitality Management CRICOS: 090978G   NATIONAL ID: SIT50416	6 months		Reid	Feb/Apr/ Jul/Oct	\$8,900	\$8,900	5.5
Advanced Diploma of Hospitality Management CRICOS: 091136G   NATIONAL ID: SIT60316	6 months		Reid	Feb/Apr/ Jul/Oct	\$7,050	\$7,050	5.5
PATISSERIE							
Certificate III in Patisserie CRICOS: 109752K   NATIONAL ID: SIT31021	1 year	2 years	Reid	Feb/Jul	\$8,900	\$17,800	5.5
Diploma of Hospitality Management CRICOS: 090978G   NATIONAL ID: SIT50416	6 months		Reid	Feb/Jul	\$8,900	\$8,900	5.5
Advanced Diploma of Hospitality Management CRICOS: 091136G   NATIONAL ID: SIT60316	6 months		Reid	Feb/Jul	\$7,050	\$7,050	5.5
HOSPITALITY							
Certificate III in Hospitality CRICOS: 112089K   NATIONAL ID: SIT30622	6 months		Reid	Feb/Jul	\$7,050	\$7,050	5.5
Certificate III in Events CRICOS: 112085C   NATIONAL ID: SIT30522	6 months		Reid	Feb/Jul	\$7,050	\$7,050	5.5
<b>Diploma of Hospitality Management</b> CRICOS: 090978G   NATIONAL ID: SIT50416	6 months	2 years	Reid	Feb/Jul	\$7,050	\$7,050	5.5
<u>OR</u>	<u>OR</u>						
Diploma of Event Management CRICOS: 094471B   NATIONAL ID: SIT50316	6 months		Reid	Feb/Jul	\$7,050	\$7,050	5.5
Advanced Diploma of Hospitality Management CRICOS: 091136G   NATIONAL ID: SIT60316	6 months		Reid	Feb/Jul	\$7,050	\$7,050	5.5
EVENTS							
Certificate III in Events CRICOS: 112085C   NATIONAL ID: SIT30522	6 months	. 1	Reid	Feb/Jul	\$7,050	\$7,050	5.5
Diploma of Event Management CRICOS: 094471B   NATIONAL ID: SIT50316	6 months	- 1 year	Reid	Feb/Jul	\$7,050	\$7,050	5.5

Click a course to view the full course details online.	DURATION	PACKAGE DURATION	CAMPUS	2023 INTAKE	2023 SEMESTER FEES*	TOTAL COURSE FEES	IELTS
BUILDING AND CONSTRUCTION							
BUILDING AND CONSTRUCTION							
Certificate IV in Building and Construction CRICOS: 104665E   National ID: CPC40120	1.5 years	7 110 2 110	Bruce	Feb/Jul	\$7,450	\$22,350	5.5
Diploma of Building and Construction (Building)** CRICOS: 104671G   National ID: CPC50220	1.5 years	3 years	Bruce	Feb/Jul	\$7,450	\$22,350	5.5
**The Diploma of Building and Construction can also be offered as a standalone course with a duration of 2 years							

PROJECT MANAGEMENT (ONLINE)							
PROJECT MANAGEMENT							
Certificate IV in Project Management Practice^ National ID: BSB40920	1 OR 2 Semesters**		Online	Anytime	\$3,980	\$3,980	5.5
<b>Diploma of Project Management^</b> National ID: BSB50820	1 OR 2 Semesters**	1 to 2 years	Online	Anytime	\$4,904	\$4,904	5.5

<sup>\*\* 1</sup> semester full time (30-40 hours per week) - approximately 6 months (full time)

Disclaimer: Information is current at February 2023. CIT takes all due care to ensure that the information contained herein is accurate, however, reserves the right to vary information without notice (e.g. tuition fees, pathways, training package changes, etc).

## STUDY PATHWAYS

Click a course to view the full course details online.

COURSE	PATHWAY	UNIVERSITY	CREDIT POINTS
HEALTH & COMMUNITY SERVICE	s		
NURSING			
Diploma of Nursing (HLT54115)	Bachelor of Nursing (364JA.1)	University of Canberra	24 (1 year)
	Bachelor of Nursing	Australian Catholic University (ACU)	80 (1 year)
	Bachelor of Nursing/Bachelor of Paramedicine	Australian Catholic University (ACU)	60 (6 units)
COMMUNITY SERVICES			
Diploma of Community Services (CHC52015)	Bachelor of Social Work	Australian Catholic University (ACU)	80 (1 year)

<sup>\*\* 2</sup> semesters part time (10-15 hours per week) - approximately 1 year (part-time)

<sup>^</sup>Applicants who hold or are applying for studies with CIT on a 500 visa are not eligible to study these courses

<sup>\*</sup> Course fees are listed in \$AUD and are based on a semester rate. Total package cost will vary depending on semester start date. Small fee increases happen annually in line with CIT's fee pricing review. For current information, visit international.cit.edu.au

## Click a course to view the full course details online.

COURSE	PATHWAY	UNIVERSITY	CREDIT POINTS
HOSPITALITY & CULINARY			
COMMERCIAL COOKERY			
Diploma of Hospitality Management (SIT50416)	Bachelor of Event and Tourism Management (MGB401.1)	University of Canberra	24 (1 year)
Advanced Diploma of Hospitality Management (SIT60316)	Bachelor of Event and Tourism Management (MGB401.1)	University of Canberra	27 (over 1 year)
PATISSERIE			
Diploma of Hospitality Management (SIT50416)	Bachelor of Event and Tourism Management (MGB401.1)	University of Canberra	24 (1 year)
Advanced Diploma of Hospitality Management (SIT60316)	Bachelor of Event and Tourism Management (MGB401.1)	University of Canberra	27 (over 1 year)
HOSPITALITY			
Diploma of Hospitality Management (SIT50416)	Bachelor of Event and Tourism Management (MGB401.1)	University of Canberra	24 (1 year)
Advanced Diploma of Hospitality Management (SIT60316)	Bachelor of Event and Tourism Management (MGB401.1)	University of Canberra	27 (over 1 year)
EVENTS			
Diploma of Hospitality Management (SIT50416)	Bachelor of Event and Tourism Management (MGB401.1)	University of Canberra	24 (1 year)
Advanced Diploma of Hospitality Management (SIT60316)	Bachelor of Event and Tourism Management (MGB401.1)	University of Canberra	27 (over 1 year)
TOURISM			
Diploma of Hospitality Management (SIT50416)	Bachelor of Event and Tourism Management (MGB401.1)	University of Canberra	24 (1 year)
Advanced Diploma of Hospitality Management (SIT60316)	Bachelor of Event and Tourism Management (MGB401.1)	University of Canberra	27 (over 1 year)

Click a course to view the full course details online.

COURSE	PATHWAY	UNIVERSITY	CREDIT POINTS
PROJECT MANAGEMENT (ONLIN	(E)	'	
PROJECT MANAGEMENT			
	Bachelor of Business (Management) (MGB105.1)	University of Canberra	24 (1 year)
Diploma of Project Management (BSB50820)	Bachelor of Business (Entrepreneurship & Innovation) (MGB101.1)	University of Canberra	24 (1 year)
	Bachelor of Business (Sport Management) (MGB108.1)	University of Canberra	24 (1 year)
	Bachelor of Business (Marketing) (MGB106.1)	University of Canberra	24 (1 year)
	Bachelor of Event and Tourism Management (MGB401.1)	University of Canberra	24 (1 year)
	Bachelor of Business (International Business) (MGB104.1)	University of Canberra	24 (1 year)
	Bachelor of Business (Human Resource Management) (MGB103.1)	University of Canberra	24 (1 year)





Dream it. Learn it. Be it.

## **CONNECT WITH US**

Phone

+61 2 6207 4662

**Email** 

International@cit.edu.au

Website

international.cit.edu.au

## **SCAN ME**



### Facebook

@internationalcit

### Instagram

@Internationalcit

#### YouTube

@Youtube/c/internationalCIT





